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LE9s3 700 700 0
2. W5 H| 3,800 3,800 0
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IR e X 200 200 0
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5.358% ¢l 36,330|  28,110| 8,220
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2. 4Rkl Fx] 1,000 1,000 0
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3.9984 4 E94 1,700 1,700 0
1. 39S 1,700 1,700 0
4.874% 2,280 2,280 0
1.k 8w 2,280 2,280 0
2 ABA T LY 8,420 1,700 6,720
1.8 2 of 8,420 1,700 6,720
1.8t ZHPHAFAY 1,700 1,700 0
1Ledsd 1,700 1,700 0
9 WS EHAA ALY 6,720 ol 6,720
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4.3 544 =9 10,190 10,190 0
195489 600 600 0
1.5 600 600 0
1. WS- 600 600 0
2.7 8314 - 9,590 9,590 0
1.8 AR Y 9,590 9,590 0
1. kg9 1,440 1,440 0
2. 05 H| 4,030 4,030 0
3. HIETYH] 2,600 2,600 0
4. 71 e} S 1,520 1,520 0
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1.8+ 7] 26,240 26,240 0
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1.7 A e 8,794 8,794 0
1.994] 1,500 1,500 0
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4, 02 YA ] 600 600 0
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